Multiplication d'un Monome par un Binome (D)
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Simplifiez chaque expression.

. 57"3(47”5 — 67"4)

9r(5r° 4 5rt)

9s*(—7s" + 7s*)

- —6v*(=5v —7)

- —z%(42” + 42*)

9k*(5k% 4 3k)

. 47“5(47“5 + 37“4)

- 85%(8s — 3s?)

f9f-9)

- 6w* (8w® + 4w?)
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Multiplication d’'un Monome par un Binome (D) Réponses
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Simplifiez chaque expression.

. 57’3(47”5 — 67’4)

— 207% — 3007

. 9r(5r5 + 5r4)

= 45r° + 45r°

952 (—7s" + 734)
= —63s" + 63s°

—6v% (=50 — 7)
— 3003 + 420°

- —2%(42” + 4a*)

= 4" — 420

9k*(5k* + 3k)
= 45k° + 27K°

. 47’5(47“5 + 3r4)

= 160" + 12r"

85%(8s% — 357)

— 645" — 245"
£2f-9)
=9f'—9f°

6w (8w® + 4w?)

— 48w° + 24w
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